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Note :This paper contains Seventy Five (75) Multiple-choice/Assertion and
Reasoning/Matching questions carrying TWO (2) marks each. Attempt All

ig

the questions.

Dol Welodl AR (ou) oglisevla usil, wA-WE wA Assl strigaidl wal
. ddid Usedldl walel dviadl 9. Bds uxdd A4 () @ 8.

The price elasticity of demand for 1. ualens ULl mivdl yeu wdaic

a perfectly competitive firm is :
(A) Infinite
{B) Zero

(C) Unity

(D) Less than one

Disposable income equals :

(A) Income minus both saving and

taxes

(B) The sum of consumption and

saving

(C) Consumption minus taxes

(D) Income minus saving B
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“For goods that one unrelated in

consumption, efficiency requires

that tax rates be inversely
proportional to elasticities”. This is

the definition of :

(A) The benefits received principle
. (B) The Ramsay rule

(C) The second best theorem

(D) The inverse elasticity mle

Infant industry argument is

advocated in favour of :
(A) Price discrimination
(B) Resource mobilization

(C) Protection to domestic
industries

(D) Product diversification
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5.

A rise in the median age of

population is known as :

(A) Demographic transition
(B) Demographic ageing

(C) Demographic inflability
(D) Demographic mon;entum

The level of significance is the

probability of committing :
(A). Type I error

(B) Type II error

(C) Type III error

(D) None of the above

Factor endowment theory of trade

is associated with :
(A) Harrod Domar
(B) Marx
(C) Mills

(D) Heckscher-Ohlin
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Which one of the following states

had the highest number of branches
of Regional Rural Banks (RRBs) in
2010 ?

(A) Bihar
(B} Haryana
(C) Madhya Pradesh
(D) Panjab
9. Match the following :

(@)
(b)
(c)
(d)

1
2
3.
4

List I

Virious circle of poverty
Low income equalibrium
Laisse-z fair

Industrial Reserve Army
List II

Adam Smith

Nurkse

Nelson

Karl Mark

Code :

Ay 1 2
B)3 4
© 2 3
Dy1r 2

@ @) © @

o = W
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10.

11.

In Indian Agriculture the fertilizer
uses remained highly skewed

towards use of :
(A) Nitrogen
(B) Phosphorous
(C) Potassium

(D} Nitrogen as well as

phosphorous

The deadweight loss of a monopoly

is due to the fact that :

(A) Monopolies earn economic

profits
(B) Monopolists are greedy

(C) Monopolies restrict output in

order to raise price

(D) A monopoly does not produce
at the minimum point of its

average cost curve
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12.

13.

Equilibrium in the goods market

requires that :
(A) Consumption equals saving

(B) Government spending equals

taxes minus transfers
(C) Production equals demand
(D) Production equals income

All internationally traded services
are covered under which of the

following WTO agreements ?
(A) GATS
(B) TRIPS
(C) TRIMS

(D) PTA
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14. Which of the following is not a

characteristic feature of a tax 7
(A) It is a compulsory payment

(B) Every tax involves a sacrifice

by tax payer

(C) There is a quid-pro-quo between

the tax payer and the

-government

(D) Refusal to pay a tax is a

punishable efficience

15. Which one of the following is the

most significant feature of the

Indian population to déy ?

(A) Decliniﬂg birth rate

(B) Irﬁproving literacy rafe

(C) The size of its WOfking age
population

he alth

(D) Improvement in

conditions

Economics-111

14.

15.

52430 Mo dlaumiel 59 ouid AlEBs

<¢1?
(A) Al ysaell swud &

(B) UAs 5221+ ysasll W 3 sl

el M alder 8

(C) s2ar ysaell s2UR 2 YR
a2, qsAli—eiWEHL Fl Aoy
SER)

(D) 532l ysawll e A wisandl

Blaeis -l oA 8
qénlﬁl aqlcrl axdl w2 dlA-uiell
Aigfl oL, aaR sg' 274
(A) uedl %rﬁaz
(B) yaie Al &2

(©€) s sl ardld se

D) e uRRaRUL yal

[P.T.0.]



16. Multicollinearity occurs whenever : 16. o &A% WM 3vidlL (Multicollinearity) il

(A) The dependent variable is - - -
WAL suIR Ged 7

highly correlated with the

(A) a3 e dld yeR el @dat ad

independent variables

AL 0 wlfvs Hesiy Sia
(B) The independent variables are

orthogonal (B) @dx a2 dosieiy

(C) There is a close linear -(orthbgonal) Sly

relationship among the
(C) e Adelwil a2 oltz 3w 2lsig

independent variables
iy

(D) There is a close non-linear

_ o (D) @ adslll a2 suz »3Mis
relationship among the

independent variables (Non linear) el siy
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Directions (Q. Nos. 17) : In the

17.

_question given below is two

statements labelled as Assertion (A)

" and Reason (R). In the content of

the two statements, which one of the

following is correct ?
Codes

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true, but

(R) is not the correct

explanation of (A)

(C) (A) is true but (R) is false
D) (A) is false but (R) is true

Assertion (A) : Non-economic

factors play an important role in the’

process of economic development.

‘Reason (R) : Accumula_tion of

capital takes the form of human

capital formation also.
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18. Neutrality of changes in nominal

19.

money growth means that it will

havé no medium-run effect on :
(A) The inflation rate

(B) Nominal wages

(C) The price level

(D) Output growth

When total product curve is
increaéing at an increasing .r.ate :
(A) The marginal product is

positive and increasing

(B) Average product is zero

(C) Marginal product is positive but
also declining
(D) The marginal product curve

lies below the average product

curve
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19.

ARt ceradl »ed Al wnaui gfs
SAML 24A AU 1R UL A BR

.......... Y2 ydl Al
(A) goual-i €2
(B) M4 Ad-i
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20. A potenti i | X ' i 5
potential problem with the o, 50 50 0 diguel deudla w2 8

¥

accumulation of public debt that
3 U @Rl U palg udleuA ©

results due to the heavy bbrrowings

by the government is that : (A) U el £3 Guz. a3d 8 %

(A) It may push the interest rate wietofl Asiad Al esi2

higher which crowds out

53 &

private invastment

.

(B) i ezl e A as 93A 8 ¥
(B) It may push the interest rates

. w2l s d) A w1 @
downwards which may crowd in (crowd) - >

private investment o
(C) Interest rate remains neutral : . .
(C) ezl e ¥R 2wd A wu-ll

and private investment will not |

s aad Al
change

(D) None of the above (D) Gua-umidl 55y Al

Economics-III ' i3 [P.T.O.]



21.

22,

Full employment and balance of

payments equilibrium will be

automatically achieved in an

optimum currency area :

(A} It exchange rates are fluxible

(B) Foreign capital flows into the

country

(C) If labour and capital move

freely

(D) If trade is liberalized

Which among the following is not
included in the policy framework of

NPP 2000 ?

(A) Imparting free and compulsory
school eduction upto 14 years

of age
(B) Reducing infant mortality rate

(C) Achieving universal immuniza-
tion of children against all
vaccine prevantable diseases

(D) Making family welfare a pé0ple

centered programme

Economics-I11
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23.

24.

The interpretation of the slope
coefficient b, in the model

In(W=a+blInX) + uis follow :

(A) A 1% change in X is associated

with a b% change in Y

(B) A change in X by one unit is
associated with a b change

inY

(C) A change in X by one unit is

. associated with a 1006%

change in Y
(D) A 1% change in X is associated

with a change in Y of 0.01b

The official exchange rate of Indian

~ rupee is associated with :

(A) Pound Sterling
(B) Dollar
(C) SDR

D) A basket_of selected companies

Economics-I11
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23.

24.

Wi in V) =a+ bln X) + Y ul

3 b o widued g wy ©f

(A) X 4l 1% 33812 ucua{l' Y Hi b%

33512 2y &

(B) X Wi 1 Asurll 33512 el Y

U b Fedl 312 %A B

(C) A change in X by one unit in
associated with a 1006%

‘change in Y

(D) A 1% change in X is associated
with a chenge in Y of 0.01b
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25. The slope of an isoquant measures : 25 yHBUEA, IWil ol g euld &7

(A) The ratio of margingl products (A) Wi Gl oz

(B) Diminishing marginal returns .
(B) AlHid ved andz

(C) Returns to scale
(C) std d4adzr
(D) The optimal combination of :

: D) [REIAL Sredn duie-
mputs

26. Who is the chairman of the 26. 14 Mi «ustiva- Uy 5ol 87

Fourteen Finance Commission. ? )
(A) Al v+

(A) C. Rangarajan
| (B) sl. Qo sdsr
(B) Dr. Vijay L. Kalkar

(C) »H. Alldel g
{C) M. Govind Rao _ '

(D) Dr. Y. V. Reddy D) st. aw.dl.” s8]

27. Which of the following state has the 27 "0l su1 2upumi w)

lowest number of females in AvUHSHHI A (Roflil) L divy qerd
comparison to maies ? o &7

(A) Bihar | . | (A) Bz

(B) Rajasthan _ (B) 1%~

(€) Kerala ©) R

(D) Haryana (D) sRum
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28. In input-output analysis, (1-A) is  28.

29.

30.

called :
(A) a leontief matrix
(B) a technology matrix

(C) an adjoint niatrix

{D) none of the above

Portfolio theory of the demand for  29.

money assumes th_at the

individual :

(A) disregards risk

(B) 1is risk neutral
(C) is risk lover

{D) is risk averse

The major difference between  30.

Harrod Domar and Solow Modes of

growth lies in :
(A) Substitutability
(B) Capital écéumulation

(C) Growth of income

~ (D) Return to scale
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31.

32.

33.

The 14th Finance Commission has

raised the untied share of states in

net centi'al' taxes to :
(A) 42%

(B) 32% |

(C) 29.6%

(D) 39.5%
Export prbmotion is an :
(A) Inward looking strategy

(B) Outward looking strategy

: (C) Fiscal. strategy |

(D) POlit_iéal strategy

Whlch of the following would cause

the aggregate demand curve to Shlﬂ'.

to the nght ?

(A) an increase in purchases by the

- government

(B) an increase in real interest

"~ rates

©) an appreciation of the rupee

(D) a decrease in the money supply

Economi_és-lll -
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31.

32.

14 A Al U2 Avee 39 sRaM
gl Bzl Rl dedl aqawl 87
(A) 42%

(B) 32%

(C) 29.5%

(D) 39.5%

Rsiat aadl (@) oo B,
(A) A et

(B) 'ﬂ[éw[&tgw AUl

(C) UMY g

(D) AXSU YL |

Arniell 59 AsA s19n A Wi
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(A) AR gl WA qaurl
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-~ 85.

- 34. The concept of ‘Golden Age’ was

used by J. Robinson rheant :
(A) Inflation in the economy

(B) Smoocth aﬂd steady growfh of
the ecdnomy with. full
erﬁployment

(C) Smooth ‘and steady gt.'owth: of
the economy with undér
employment

(D). Use of gold standard

What is the total literacy rate of

India as per 2011 census ? -

(A) 82.14%

(B) 74.04%
(C) 76.06%

(D) 65.5%
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(B) 1@[ 2’“1%#1?11_ 2@ ':»t_aic_ticéau«[l el
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WA € § Q?'I

(A) 82.14%

(B) 74.04%--.

(C) 76.06%

(D) 65.5% |
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36.

37.

The industrial sector in National

Account statistics of India

includes :

(A) Mining and quarrying,
- manufacturing and electricity,

gas and water supply

(B) Manufacturing, electricity, gas

and water supply and
construction
(C) Mining and Quarrying,

manufactliring and construction

(D) Mining and quarrying and .

manufacturing

If the market price is below

‘equilibrium :

(A) There is excess demand

(B) There is excess supply

(C) Consumers want to raise the
price

(D) Producers want to increase the

price

Economics-IIT
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38. Which of .the following tax has not

- 30.

being subsumed at the state level

 into GST ?

(A) State value added tax

(B) Taxes on agricultural land

(C) Entertainment tax
(D) Taxes on lottery

The non-economic arguments for

tariff protection include :

(A) National pride
(B) Income redistribution
C) National defence

(D) All of the above

Economics-I11
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38. fA-uHidl sul 52 UYL AL 52

GST i wulawe s3a vt_a[l?

(A) o, yeualld s3 (VAT)

(B) 4 ol v+l 53
(C) W% 52

@) a2l vzl 52

Canaasid aae el Bi—aulls

celledirl ........ ¥HAL WA D,
(A) UBRzu ww[épu
(B) asll y: adasl

(C) gy A4

(D) Gu suly

[P.T.O.]



40. The demand for money will fall  40. -ugu-l HioL geq 2 :

if (A) akrdlas sa uley A (GDP) i

(A) Real GDP rises ' aaLxl
(B) The GDP deflator rises ('B.) GDP AslaA a8
(C) Real interest rate rises - C(0) ard@s euxdl g2 4@

(D) People expect deflation soon O Gft_é?l AL Hid B 3 %lé% 4 2l

41. Match the following : NN n LA
ate orowing 41, iR otisal : |
List I - List II L L
List I List II
(@) Year of the ' .
@ Méld s
Great Divide ) 1950 '
v | () 1950
(b) Industrial Policy -
| ® »iilbis
Resolution 2 1921 : _ _
_ ' 5319, @ 1921
{¢) Setting up of '

i - © il yy-f)
Planning Commission

o 1069 WA @ 1969
(@ Nationalisation of B @ 14 AR
14 Commercial C cesid ulgd
Bank ' '(4) 1956 539 4 1956
Coge . 5is |
(@) _(b) e) (d) @ &) @© (@@
@@ @ D G @2z 4 1 38
® @ @ O @ ®4 3 1 2
€ 2 QO @ (4)_' 2 1 3 4
DM 3 @ @ | M1 3 4 -2
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42, The Green Revolution has fed to -

(1)

Spurt in all foodgrairis
production

_. (2) Increase regional

inequalities

3

Reduction in inter-personal

inequalities within a region
@) Good production in wheet

(A) (1) and (3)
B @) @, @ and @
© @ and (4)

(D) (1) and (4)

. What stage of demographic

transition theory depicts the onset

of industriélization ?
(A) Stage 1

B) -Stagé 2

(C) Stage 3 |

(D) Stage 4

Economics-II1

42, s3dsilaAr wlewel e

43.

23 -

(3)

(1) &35 USRIl VAL Gowes 251

(2) wedls AU éﬁuz‘t

NZal wlid2—easd BRAHIAAHD
H2lsl | |

(4) a6d Ay Gowet
(A) (1). e (3)
(B) (1), @), B) =3 (@)
(©) (2 #A (@)
D) (1) i (4)

a_»fléfﬂﬁ& 2@l azvia RdllAmus Asicdiql
Riglddi sul aoisy wy 07

(&) msé‘t 1

(B) deissl 2

(C) dnssl 8

D) deisst 4

[P.T.O.]



44. Fiscal policy in India is formulated 44.

45.

46.

Economics-II1

by :

- (A) NITI Aayog

(B) The Planning Coinmission
(C) The Reserve Bank of India .
(D) The Finance Ministry

Suppose that sﬁpply is p.erfectly '

elastic. If the demand. curve shifts
to the right then :

(A) Price will increase but quantity

will remain constant

(B) Price and quantity will increase

(C) Quantity will increase but price
will remain constant

(D) Neither price nor quantity will
change

Which of the follbwing is correct
about the Contingent Valuation
Method (CVM)

Environmental Economics ?

used in

(A) It is used only for natural

resource

(B) It is used for items u_nder

market failures

. 46.

(C) It is used only for items with

positive utilities

(D) It is used only for pollutants

‘94

45.

o zal sy A, AL gLl asari
wdl : '

(A) il 2uai0
(B) A4l YA
(C) Nad érs s S-Sl (RBI)

(D) -usune

3l 3 yrasi dyel Rufeaus ¢y, @

Ml as ol oug v R

(A) mtcﬁ__qﬂit wa o2l Ruz Al |

(B) oudl 2&-‘1.%2211 ol qudl

(C) ol qadl w2 cudl Rar €4

D) 4 dl oudi 3251 4l gl 3
%wiai 35 ad

wylaelly sl 2us{ls Yeuis

gl (CVM) i Guaial Al 56

oo Al 7

(A) ardl Hixt gedl e R Gyl

(B) i AR Fsaded Guaiol ay

(C) ss2ics GuadIl argi Guiol

M) a H wgHsiHiy Guadl



47. The government has planned to

remove the distintion between .plan
and non-plan expendi'ture from
2017-18. With regard to the present
non-plan expenditure, cbnsider the

following statements.

(1) Salary and pansion payments

are part of non-plan expanditure

(2) The non-plan expanditure 15

higher than the plan

‘expanditure of the government

(3) Interest payments forms the
highest portion in non-plan

expanditure

Which of the statements given

above is/are correct.
(A) (1) only

(B) (1) and (2) only
(C) (2) and (35 only

(D) (1), (2) and (3)

Econbmics—III
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47. 2017-18 #fl A& Ao etrudl B 3

il B Bl ALl WAL W 9L
asladn g2 sl IR sa-siel adyis

Bl QoL s MMl 2ud 8

(1) ddd ¥+ fLr&LvN"l y saul,
[Biet—2tiogeiiel Wl «efl.

(2) Ul G-t 1»{.2[, Yol
wid 521 ag 8.

(3) Brri—dios=t wadni dicstells ysasll-l
Aldl 4y eldL 9.

GuR-l sariHidl sy w3y o

(A) (1) Hl

(B) (1) @)

(C) (2) wiri (3) A

D) (1), (@) 24 (3)

[P.T.O.]



48.

49.

Banks can create money :

(A) Only by illegally printing

money

(B) By offering financial services

(C) By making loans that results

in additional deposits
(D) By paying interest rate to their

depositors

Which of the following is non-

renewable resource ?
(A) Fish and Cattle

(B) Petroleum

{C) Human Resources

(D) All of the above

Economics-II1
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) =

6irs ruléltj A% 53 9

(A) |l sleuR old Al gt
(B) gl Acll-t el gl

(C) [ﬁzu;t 2l SLRETIAERER TR I

D) AR 2zl el Ysael

Al s el stlud (B

AwResag) 87
(A) usodl Q»t-i g
(B) Uglellun -

(C) e A4

(D) Gu-L oay



50. According to the monetarists, in the

51.

long-run the Phillips curve is :

(A) Vertical

(B) Downward sloping

| (C) Horizontal

(D) Upward sioping

According to the IS-LM model given

by Hicks-Hansen there is

simultaneous equilibrium between :.

(A) Income level and rate of

interest
(B) Income level and consumption
(C) Inflation and unemployment

(D) Demand and supply of money

Economics-1II

51.

50. -waualgldl Hd, dietond sledlw as
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(A) dolaLsR
B) 3 audl

(8] [_81[&%& HMdR

| (D) Bu audi

R4 i ghediel gl 2iucuml 2ude IS-
LM siSadi —oi—i a2 Aldidly

UHdEl -

(A) uasdl wwdl a7 euoll €
B) asdl awd :»Q quale
(C) goudl #L-’t a3l

(D) ~tensfl Mol A el Yasl

(P.T.O.]



52. The san-measure of printing line is

52.

said to measure the distribution of
welfare rather than merely the
distribution of wealth in a society

because :

(A) It measures the energy

requirements of a household

(B) It defines poverty in terms of

a minimum level of lining

(C) It seeks to measure the income
short fall of each person in the

poverty line

(D) It prescribes a universal
standard of well-being

applicable the world over
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a6l vt vafl ygli—seawad

adaelld Wy sdal 8 ol Wi

Ayl aduelld srw -

(A)

(B)

()

(D)

séoll G%[rﬂ S HL B
Aol ufld 53 68 @cﬁ—_ﬂ
iy w3[2uld ém

A6l Jvi-ucds Al3ardl vidsel

HalsiA Wl &

Y2 [Qeaui ¥ @) sl & wdbBls

yeustdly 4w suld &



53. Value added tax is :
| 53. Heualdd 52 ......... 0.

(A) a special tax levied by. the

(A) 25 [Qfe 52 & ¥ AAA GlRL A
states on products from other

states WAL R, YR QAU 1

(B) a tax on final consumption _
(B) Adl 53 ¥ ¥ auaiy -l ilan

collected at the consumption

Gueilal 43 AdMi A 9
level

C d val fi {
(C) an ad valorem tax on final (C) Aey 25 Gauert 2 W iR

consumption collected at the

QAL Y AdHi 2 B
manufacturing level '

(D) An ad valorem tax on domestic - 1)) é‘lég 25 ald Aladls Gueildr

final consumption collected at _
AR UR Gertet A vilax danad

all stages between production

_ DBieg, a2 Al W B
and point of final sale
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54. The adoption of high yielding varity = 54, cuzdla sMgasl Gz and [Gaew

programme in Indian Agriculture (us12) L sulsn s e s3d :

started in :

(A) 1965

(A) 1965
| (B) 1966

(B) 1966
| (C) 1967

(C) 1967
I 1968 . o (D) 1v968

55. Which criterion holds that ‘any  55. ADrs scuRiii 2l aqIRl WA & cu’

change thet makes at least one AS s aliael seurai aail el

individual better off and no one . . -
‘oflew 3wt scngiHi watsl ydi A4l it

course off is an improvement in ' :
saL wNESH sufd @7

social welfare ?

(A) f-an
(A) Bentham
(B) Pareto (B) 13l
(C) Ricardo ' (C) 2'15161
(D) Marshall - D) wia
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56. The necessary and sufficient 56§ 34 ouiz 42 %331 213 yadl aRd

. condition for trade between the two
W

countries is :

(A) Difference of nﬁarginal cost (A) %[lHLdPRIHL delad

(B) Difference of absolute cost | B) DNUswAH] daslad

(C) Difference of comparative |
(C) daticts WAl dslaa

cost

' (D) GuHiel sidugl sl
(D) None of the above

57. Which of the institution provide 57- -TAsuxidl 6 al GaidlA aleu-

long-term ﬁnahcg to Industries ? éll"uti [QQL@L Y W 8
(A) UTI o - (A) 3elbus .(UT_I)

(B) LIC (B) aﬁaw&ﬂ (LIC)
(C) GIC | (©) @rusl (GIC)

(D) All of the above D) Guzrﬂ opefley
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58. The short-run aggregate supply
curve is the relationship between
the quantity of real GDP supplied

“and :

58.

(A) The quantity of real GDP

demanded
(B) The price level
(C) The real interest rlate
(D). The inflation rate.

59. National Seed Policy 2002 is

based on the recomr_pendation of :
Ay MV Rao. Committee

(B) Abhijt Sen Committee -

(O Praveen Jha Committee

(D) MS Swaminathan Committee

Economics-III
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251U PEER YRAGIL bl dold,

aiRellds GDP - M3 »i4
(A) <dfds GDP «l Hdld Hisl

(B) Bya uwwd

H{O) ardlas el e

(D) gaual e

Az ofly Al 2002 e

1 e, Guz suald

..............

(A) ndl. ua 44
(B) 2[82q A 5404
(C) m=ta » 544

(D) HAR @i, 505



-60. Now a days we talk about

61.

‘sustainable development’ which

relates to :

(A) Control of population to suit

natural resources

(B) Development for sufficiency
and effiency which is bio-

friendly

(C)
the central and state budgetary

resources

(D) Development which takes into
account the taxable capacity of
people

In environmental economics He_rman

Daly has formulated :

- (A) Step up approach

(B) Space utilisation approach

(C) Ecological approach

(D) Steady-state approach \

Economics-111
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60. eletl Barimi 2uud ‘256 Qs -l ad

61.

......... {1 218 el 9.

s lal %
(A) R (o, wslds Aue-in

Wri3U Sy

(B) (s M2 wald wd sidan

opyi—3-sdl sy

(C) (A5 & ¥ 3(eu 2 1%y-l

vigtorusirl wEAlAl viadld iy

D [asy & ¥ alda-dl 53 Mzl

SHdl BHML 0L 8

slad 8d valazely il

......... A AL s,
(A) oLy 2 234
(B) o4l Guaial 4[4

(C) Ssidigwsa vl

(D) Rz wRRaR 2w
' [P.T.0.]



62. According to the C. Rangarajan |

63.

Committee’s measurement of

poverty in India, poverty line for

rural meas for the year_201 1-12 is :
(A) Rs. 1407 -
(B) Rs. 972

(C) Rs. 816

(D) Rs. 1000

Which of the following bast defines

tax buoyancy ?

(A) It is the ratio of growth in tax
revenue to growth in GDP
(B) It is the ratio of gross tax

collected to the total public debt

of .the st_ate'

(C) It is the ratio of gross tax
collected by the state to the

percentage of GDP
(D) It is the ratio of growth in

tax revenue to growth in

population

- Economics-IIT
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eiLdi aLlefldg i Al T 541l
AR 2011-12 1 arfai st 26l

VLM .
(A) 3L 1407
(B) 3t. 972

(C) 3. 816

(D) 3. 1000

Adnetiell 52 Gerzal (s a1 A

Aqlefl A wlows 59 &7

(A) 52 2u4s 1 GDP 4l zz £

(B) Uwud & AR %Igi,, §@ 52 AsBid |
s R B

(©) A% G131, &4 52 Asolld s

» GDP +i 2standl €2 8

(D) $3 SasHi 9l A aadl¥i qfzd e

2



64. The general method used to solve

65.

industrial disputes in India are :
(A) _Adjudication'

(B) Decision by trade union

(C) Collective bargaining

(D) Compulsory arbitration |
Consider the following statements :

(1) In India, more than 85%
agriculture workers are mainly

casual labourers.

' (2) Agriculture labourers in India
 are mainly dominated by the

backward classes.

Which of the statements given

above. is/are correct ?
(A) Only (1) = -
(B) Only (2)

(C) Both (1) and @

| (D) Neither (1) nor (2)
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64. oudHi By pos Ratal we

65.

wyuiell 55 @R wuaqml vud &7
(A) (sly

(B) HogRAe girl (sl

(C). AWHRs Alsiou

(D) s 2Ry (Arbitration)

QA Qe R 53 ¢

(1) oMl 85% Ht ag s slisi, Y

{casual labourers) €.

(2) ol wfsia B adls, ol

aaly ueya 4d 8.
Gur-n Raaniefl sy Qe wdy 87
Ay Wt (D
(B) t (2)
(C) & (D) 2»1-1_ (2)

M) «dl (1) -l (2)

[P.T.O.]



66.

67.

68.

The ‘optimum tariff is the tariff
which :

(A) Maximizes country’s foreign

trade
(B) Minimize imports
(C) Maximizes country’s welfare

(D) Maximizes its earnings from

tariff
Impossibility of constructing social
indifference curve was pointec_i by :
(A) Sen
(B) Arrow

(C) Kuznet

| (D) Kaldor

Which location in the atmosphere
is ozone considered ‘bad’ and

harmful to a public health ?

(A) Lower atmosphere |

~ (B) Higher atmosphere

(C) Stratosphere

(D) Mesospheré-

Economics-II1
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66.

67.

68.

Mgy UL W5l 21 Al Al Bsid

@ } % H

(A) Bu-t [i%al YR A MM 53 6
(B) .Qﬂuqm-l Yt 53 8

(C) 24l YousilA dead 53 8

(D) 2tld 2stadizll weax Gula 52

&

AUl A Ivu el maacdt

st g2l elde él;?
@A) A

(B) AL

(C) gwme

(D) s1esiR

Rl HL 2l 56 RaRA vR1s w1
BSUASIRS elsil AR W2 HiAH
219 97

(A) sag (W) adiaze

(B) AR dldia

(C) Gedrsy

D) .Q%[‘lﬁ.{ﬂ{i (Mesosphere)



69. At fall employment, there is no :  69. i AU, wul 45 «dl :

{A) Unemployment
(B) Cydlical unemployment
(C) Natural unemployment

(D) Structural unemployment

70. Arrange the following in decreasing  7¢.

order of their contribution to fhe

gross tax revenue.
(1) Corporation tax
(2) Incoﬁle tax

(3)- Custom _duty

Select the correct answer using the

code given below :
Codes :

@ W-@ -6
B @-@ -0
© @ -1 -@

D) 3) - Q) - (2)
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(A) asi¥l
(B) afzy oinil
(C) serdl as

(D) vy 615131

A sa 52 A Aol vedl 3

angal -
(1) siuizad 4
(2) »U4s AL

(3) hasiIlosid 1ol

a4l :

A) 1) - @ - 3)
B @-@ -
© @-Q0-@®

Oy B3) - 1) - (2)

A salda sisdl seedl WAL A

[P.T.O.]



71. Which item from list below is  71. -{lla-unidl 56 dg esi s ol arg

positive externality : 8?

(A) Public immunization (A) A8 onlaa

(B) Neighbour’s barking dog : (B) usialldl ™t édilgrfl
(C) Traffic jam ' (C) z8ls o3

(D) All of the above D) Gu+L o1y

72. In which year the NABARD was 72, syl qdai NABARD -l @iy saMi

establised ? H dL?

(A) 1982 | (A) 1982
(B) 1983 (B) 1983
©) 1984 (©) 1984
D) 1992 - | D) 1992

73. When a linear consumption function 73 o3 Yu aui RAY wHidz 134

der 1% hift down- ' N
un ergoes. a paralled shift down ozl o il el s :

wards, the investment multiplier :

@A) w2
(A) Falls
| B) a8 &
(B) Rises (B)
(C) Doubles ' (C) oMl Wy &
(D) Does not change (D) M 38R adi -l
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74. Who has conceptualised the term

75.

" Economics-II1

‘Hindu Rate of Growth’ ?
(A) K. N. Raj

(B) A. K. Sen

(C) Suman Sarkar

(D) VKRV Rao

The MSME Development Act, 2006
defines a service enterprise to be
medium-sized when its investment

in plants and machineries is :

(A) Above Rs. 5. crore to up to
Rs. 8 crore

(B) Above Rs. 2 crore and up to
Rs. 5 crore

(C) Above Rs. 5 crore to up to
Rs. 10 crore

(D) Above Rs. 1.5 crore to up to

Rs. 3 crore.
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74. ‘fag ale 37 - weeddl sidl waww

75.

SN TRI] s}?
(A) 5.2, Y
(B) ».%. &

(C) YHrl AR

D) diZaidl 2ua

MSME (st 2A[[ 2006 A dal
Midzmvﬂu 23 v —se uleulia s
8. il e w1 (mell) Aot st
iy

(A) 3.5 32‘152[1 agell 31. 8 s3Us Yl
(B) 31 2 s3isdl ag i 31 5 5315 Yell
(&) QIL. 5 sdsdl aygdl 3t 10 sis |

el
(D) 3. 1.5 sAsell agell 31 3 s2is

el
P.T.O.]
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